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In an elementary particles there are — fundamental reactions.

4 _ B) 5
© 3 D) 2
SlguueL gsafld SigliuenL edlenenaer 2 creran.
(A) 4 B) 5
<€ 3 D) 2
Doppler broadening is proportional to , (T is the absolute temperature of the
source).
A T m T*
,ya/ T @) T*
et eflfley (T epawgdlen safl s QeuiuBlana) ellflgsHa siemwyb.
A T B) T*
(C) AT (D) T1°
A metal-semiconductor junction diode is called :
\W Schottky diode (B) Photo diode
(C) Tunnel diode (D) P-N Junction diode
@@ 2-Cans GonsL &8 s68 L Cur® eraru(Hib. _
(A) sridl e Cun(® B) Cum CLreL Cur®
(C) Lame e _Gum(® (D) P-Ns&pdl e Cun(®

The TV camera tube is a device which converts the optical image into

(A) magnetic signal (B) mechanical signal
(C) acoustic signal W electrical signal
@ Qsreest 8 smilyr Gwml erearug) gafl Ybusas WOIHMID STHeNWITELD.
(A) shHs memssaTTs B) PQuss wsmssans
©) @ esmssans - (D) WOer ensenssarns
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A person donating blood should have a minimum haemoglobin level of
A) 10g (B) 115¢g

W 125¢ D) 14g

Aré5 srend QsiieusnE e wallgafld Ganibs ULsb GQmés Ceuang w afGumEgermSer oerey
(A) 10 &lgmib _ (B) 11.5 &lgmo
©) 12.5 &ymod (D) 14 Aymd

Consider the statement :

Assertion (A) : The eukaryotic cells have four kinds of rRNA molecules namely
28 S rRNA, 18 S rRNA, 5.8 S rRNA and 5 S rRNA.

Reason (R) :  The 28 S rRNA, 5.8 S rRNA and 5 S rRNA occur in 60 S ribosomal
subunit while 18 S rRNA occurs in 40 S ribosomal subunit of 80 S
ribosomes of eukaryotes.

Choose the correct answer :

M Both (A) and (R) are individually correct and (R) is the correct eéxplanation of (A)
(B) Both (A) and (R) are individually correct but (R) is not a correct explanation of (A)
(C) . (A) 1s correct but (R) is false '

(D)  (A) is false but (R) is correct

Epsarand eursdlwunsmer seouef

sanm (A) : wGesMCwm_iys Qadsar prang elgwrar rRNA ppassmmpsmer Qarar(Harang
Siemausar 1penpCGu 28 S rRNA, 18 S rRNA, 5.8 S rRNA wpmib 5 S rRNA
gryewd (R) : wCaMGumiiye o drer 80 S engGunCGsmbser 28 S rRNA, 5.8 S rRNA wpmid

5 S rRNA epassamser 60 S engCunCGambsefien LigLuGgyw womd 18 S rRNA
40 S enpCGunCamibsefier LEGgub sreariiu@deang).

sflwren ufanew CHTHESHESD :

A) (A wpmo (R) @rer®Gw e Cogi (R) eramug (A) b @ sflwuner elearésid

B) A wombd (R) Qran@ibd #fl, Cogubd (R) eramug) (A) elh@ sflwuner eflengaioae

©) (A afl genmed (R) seumy

D) (A seum germed (R) s

BCGS/19 4 B




- 7. Subtropical Dry summer climate is otherwise known as

\/ Mechterranean climate

(B) China t} pe climate-
f (C) Taiga climate
(D) Tundra climate

2 U Sjwen eupert. CarenL Lmeu srablene @eucunmid SienwssiiubEng
A) wsHu sarssLD sTBlaa
(B)  ensam srablane

(C) eLamsrablae

(D) By srabiame

|
|
|
|
i
f

8. Thé diameter of the milky way galaxy is about light years.
W 10° light years
(B) 102 light years
(C) 108 light years
(D) 109 light years

ureGeuarfl cg,usml_gsélm L tb &wmir ot errH&eTTELw.
A)  10° gafl yerr(Haer
(B)  10° gafl gpemrBaer
(C) 108 qafl gy er(paer
D)  10° gefl yeam@Haer

9. The headquarter of the world meteorological centre is at
. (A) Tokyo (B) New york
M Geneva (D) Moscow
2 & aurafleney aymu’.:éﬂ @LWSEHE SO WS BeNLOBFIETET @)L LD
A) GCLradlGunr B) Hywris
(C) Qsgafeur - D) revCan
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10.  “Southerly trades on crossing the equator are deflected to the right” is proposed by the
(A) Humbolt law
(B)  Buy Ballot’s law
Ferrel's law
(D) Newton’s law |
Qgen ewrungs srhn yelWaL CamieL sLpsdear auag Upwns elwdls Qewdlng eaaums
galujerar el
(A) anbGural afld
(B)  au Guanl a9ig)
(C) SLQuraen a9l
D) Ay areld

11. Bombay Jayashri is famous for
music (B) dance
(C) drama (D) writer

umbGu Qewus ergn @ Lap Qubpeur
(A) @Qens (B) mpLemd
(C) mrLsb (D) epsgmeri

12.  Point out the wrong statement
(A) Vivekananda started the Ramakrishna mission in 1896

(B) The mission has branches all over India
M The disciples of Ramakrishna simply accept the full programme of Brahma Samaj
(D)  The mission has set up number of schools, orphanages and dispensaries
SEUMMTET SaHEOM HL_Ig S&TL_ ()
(A) 1896 aCGeusnanbBsT grodl(meagen Wagemer 2, FbEGSSTT
EB) SBDG QBT WPPeugID Slenenser 2 areren
(C©) @umrodlmegeanrflan SLiser Gpbw sormsder (W HiLgosguyb SWugCu gHms
Q& eiT (et

(D) Qg eamamhn udTatlaer, HaTeng eHFl ST, LHSHIEU Warasamer FHUBHSH L eTearg)

BCGS/19 6 B




13.

14.

15.

The Romans trading with South India during the Sangam age built the temple of Auguétus at

@
®

Puhar

Arikamedu

% Muziris

D)

Uraiyur

sis stusdlad Qsaeflbdwuimede CrrmorellwiseEpLer (p&dlu aursss 2 peysmenb sl fne,

Camullena &L 1qwi B&TLD

4)
(B)
(©)
(D)

L&mm
2Ma&sCwi
PED

2 T

The ancient Kalinga is situated in which of the present state?

A

N 4
©
)

Bihar
Orissa
Bengal
Bhutan

L sregdld sadlnisb aaug sHGUTg abs LrhlosHe o ererg?

(A)
(B)
(©)
- D)

Sammi
eflevenr
GUMBIGTETLD

Ly L_IT&0T

Vellore mutiny took place in the year

(A)
(©)

(A)
©

1802 AD _ \,(Bf' 1806 AD
1808 AD (D) 1816 AD
Gaugynt sp&D penL CuHm 26 ;
£19 1802 (B) £91806 -
£19 1808 | (D) £91816
7 BCGS/19
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16.  Match the following :

Organisations Years
(a) British India Association 1.- 1883
(b) . India League 2. 1876
(¢) Indian Association 3. 1875
(d National Conference 4. 1843
@ b © @
Aa 1 - 2 3 1
@ 4 3 2 1
© 2 1 4 3
D) 1 3 4 2
gflwrg QumBESHS :

L &I SHIBISET QU(HLLD
(a) Wflyey @BHWE sRsD 1. 1883 "
(b) @nFHw & 2. 1876
(0 @nrdHwsesnsn 3. 1875
(d) Csslw wrerE 4, 1843

- (@ (b) (c) (d)
(A)

1 2 3 4
(B) 4 8 -2 1
© 2 1 4 3
® 1 3 4 2

17. Choose the incorrect pair regarding the Tribal revolts

(A) The Ahom’s Revolt - 1828
(B) Khasi Rising - 1833
‘% Santhal Risings — 1840
(D) Kol Risings - 1831

Epsaam Dmarsg @eansEhhd @MY sl sashiamens sibsmel. QS a8 Seuprar

Gevent ereny GHLINGS. A I

(A) SCADTD&HET HOSLD - 1828
(B) srélerpésd) - 1833
(©) smpge erpds - 1840
(D) Came erapssl - 1831

BCGS/19 8 : B



18.

19.

20.

21.

If a car is moving at a speed of 100 km per hour. How much distance does it cover in one

second? i .
(A) 252m (B) 26.6m

y 27.8m 2 (D) 28.7m

@ st wenfléag 100 S Caussdler Qawdlng). m ellamquild 218 SL_&@W GITD cTemen?

(A) 25248 : (B) 26.648
(C) 2788 . (D) 28.748

What is next?
12+ 3, 236, 34 + 7, 45 20, ...

(A)  56+30 \/56+11

(C) 57%30 (D) 58+13
2I(NSG! eTemnen GU(HLD?
12+ 3, 23*6, 34 + 7, 45 = 20, ...

(A) 56+30 (B) 56+11
(C) 57+30 (D) 58+13

A balloon in the shape of a sphere has volume V and surface area S. If the balloon is blown
up so as to have a volume of 8 V without changing the spherical shape. What is the new

surface area? :
A) 88S a( 48
> (D) S

© 28

Gamer euigefleh 2 aer Lgen sar jate V, Qeueflym urliuerey S 2 e wg L@nemen GaTeT 6ulgeld

wrpmoed 8 V sean oiemeyéiE eaflanme gy euigelled Qeuafluym Liglivierey erebmen?

A 88 ®) 48
© 28 D) S

If x—l=4 then xa—i_3 is

X X
(A) 64 ' B) 170
© 172 \gpf 76
x-1=4 aaflé x° —%= ?
x X
(A) 64 ~®B) 70
Cc 72 ' - (D) 76

BCGS/19
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22, If + means x, — means +, x means + and + means — then the value of 6-9+8x3+20 is

10 (B) 6

<cy -2 D) 12

+ aremugy x, — arenug) +, X ereniLg) + WHMID + eTamug — erafled 6 -9 +8x 3+ 20 —uGem iy
A) 10 | ®) 6
c -2 (D) 12

23. A pine apple costs Rs. 7 each. A watermelon costs Rs. 5 each, X spends Rs. 38 on these fruits.

The number of pineapples purchased is
(A) 2 (B) 3

y 4 (D) Data inadequate

SenemAUUD @euleuranmd oh. 7 pseyd, sTUysml qaCeurarmyb . 5 B@Geyb o eraren.
X eremmuseui @uuprasafies op. 38 Geewell GEprT erafldh, Bieui eumidlu ieT@Té ILPRISET TEHSemen ?
A 2 B) 3

(C) 4 (D)  &fugbd Curgoransde

24. Which of the following is/are true
(1) (~2,-7) is a point in IV quadrant
(2) (0, 3) is a point on X axis
(3) (=5, 2) lies to the left of Y axis
(4)  (5,2) and (-7, 2) are the points on the line parallel to Y axis

A 3,3 (3) only
© . @),0), 4 D) (1), (2

(Gleieu (meuareuHMIET aTgl/ eTeneu Qouiuime ahmi?

(1) (-2,-17) aaug IV srhu@dHows Geibg yarefl
(2) (0, 3) ererugy X on58lan Bgavomhs Larafl

3) (-5, 2) ereiug Y =i&8HE QLUypb Siewhs Larefl

4 (5,2) wppw (-7,2) fuer Y 258H@E Qaamunear Carlgeemobs Lieraflser

Aa) (2,3 B) @) wlEw
© (2,3, @ D) (1), ()
BCGS/19 10



26.

27.

If costs Rs. x each to make the first thousand copies of a compact disc and Rs. y to make

each subsequent copy. If z is greater than 1000, how much it will cost to make z copies of
the compact disc

(A) 22X — 2y _ (B) 1000x + vz
y 1000(x - y)+ yz (D) 1000(z —y)+ xz
em GnHss yen g 1000 Yrdlsdar swrfés gaibounarm ep. x eigwrseb 2HHH Grdlser

@suGlmrrmgua;@m . ¥y eigwrseyd Qeweurdng. z %uﬁlugﬁs‘.@u Qufigreme, z Grdlaer e ss
GTeuGUETEY Gl&sueurr@m'P

(A) zx—-2y ° (B) 1000x + vz
(C) 1000(x —y)+yz (D) 1000(z —y)+ xz

A fires 5 shots, to B’s 3 but A kills only once in 3 shots while B kills once in 2 shots. When B
has missed 27 times, A has killed

G 30birds (B) 60 birds

(C) 72 birds (D) 90 birds

B Wer galQaumm 3 siuunsdls a@sasEed A 5 sime s@dori. e, A geaGeunm
3 sLmeuEE @M SLemal L Hib upameaimws aradprT wpmib B seg gaiGeunm 2 s(HaaiéEn
@@ sLaas LLHGCWL upmeauamws Qsraodpri. B, 27 sLme sgaudluli@msend ulssda, A @gsg)man
UDENeUEMETE &g (HESmmT

(A) 30 upeveuser (B) 60 upeneuser
(C) 72 upeveuser (D) 90 umeneuser

A can do a piece of work in 7 days of 9 hours each and B can do it in 6 days of 7 hours each.

9
How long will they take to do it, working together 8; hours a day?

(A) 4days (B) b5 days

3 days (D) 4} days
A, ¢m Caumaenws 9 warfl Cryb Qarar,. 7 Ceuema mrseaflgib, B 2iCs Caumeaemw 7 weanfl Crid
Qarar_ 6 Coume BT seaftQIb (PY&&&HT[HID. SleuTadr Gmeumbd Carbgl b 'r_r;rr;.:mmés@ 8§ wewfl
Cryb Ceuerer QaigNeD, DeuCaumeentu (Pig &8 GTEUGUETEY STOLD 6T (HLILITTEHET?
(A) 4 priser ' (B) 5 prisar
(©) 3 priser (D) 4} srisdr

11 . BCGS/19
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28. The inner circumference of a circular race track, 14 m wide, is 440 m. Find the radius of the

outer circle

(A) 85m ' \9/84111'

(C) 70m . (D) 80m

14 Slm ssowearw @m alLwra hutamsuia o6 spparey 440 BSlii @b, Qeuafl
UL LSSl HTEMNSE SIS
(A 858 (B) 848

- (C) 708 (D) 805

29. - If P% of P is 36. Then find P.

@A) 15 | @( 60

(C) 600 (D) 3600
P-en P% <yemg) 36 erafiev P o s
{A) 15 (B) 60

(O 600 , (D) 3600

30.  The least whole number which when subtracted from both the terms of the ratio 6 : 7 gives a

ratio less than 16 : 21 is

@) 2 Jn( 3
: D) 6

6 : 7 dlssHd Qm 2 pusselaflBhgIb sfisslLBD Qurs 16 : 21 dss8DE G@DauTaT Qb .

clldlssasd sk By (@ erar
@ 2 B ®) 3
© 4 D) 6

BCGS/19 ' 12 | B



31. Which .is the lowest ladder of the Panchayat Raj?

32.

33.

(A) Gram Samithi
(B) Nyay Panchayat

@’ Gram Sabha

(D)  Zilla Parishad

LIEHETLISS] TTED ammulﬂ]siﬂ &1 Hleney 61g)?
(A)  Agmo 554

(B)  pumw ugrsmuss!.

(C)  &ymo sevu

D)  Howruss

The women representation on the Pgncha‘yats is

(A 25% _ (B) 30%
©) 35% _ P 33%
2 aramr_8lg Caigelle QuansEpssTar QL @gss0 GFG&;LIQ_[
A 25% ; - (B) 30%

©)  35% o C Ly 38%

Which of the following part of the Constitution deals with the fundamental duties? |

\M IV A

B) XIVA
(C) IXA
D) XA

@irfé]u{susmmulﬁlsb sl LGS SligliLenL sLanser upb samélns)?

@a) IVA
B) XIVA
© IXA
O XA

13
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34. Match List I (Fundame.ntal Rights) with Last II Articles of Indian constitution :

List I List IT
(a) Right to Equality ¥ Article 14 - 18
(b) Right to Freedom 2 Article 25
(¢) Right to Freedom of religion 3 Article 32
(d) Right to Constitutional Remedies 4 Article 19
(a) (b). (c) (d)
A 1 3 2 4
B) 2 4 1 3
W 1 4 2 3
D) 2 3 1 4
Qurmsg)s :
ulguiey I e ulgwe II
(a) &swsgeu 2 Menw 1. ellfl 14 - 18
(b) &sBAT 2 Meno 2. el 25
() wsa&sBHT 2 MNenw 3. eflg 32
@) erdueamnliy 2 fawo 4. 94 19

() (b) (©) (d)

@A 1 3 2 4
B) 2 4 : 3 3
© 1 4 2 3
D) 2 3 1 4

35.  The Chairman and the members of National Human Rights Commission are appointed by
the President and the recommendations of the Committee which consist of

members

(A) Five members S[{Six members

(C) Ten members (D) Eighteen members

Casflw wvally ofow Pyoausdear gmoem wLHMWL 2MUAETET GUIGS SDOUTTE®
Hludlssiu@n Ceuameruid Guir Qarerr @ SHeuisamer Uflbgemr Qewiuyn?

A)  mpgGur - B) <mCun

©) usg Gumr (D) udQer @ Cui

BCGS/19 14 - B



36.

37.

38.

(A)  Public Account Committee Shivaraman Committee

NABARD was established on the recommenciatiyof

(C) Narasimhan Committee (D) None of the above
‘Brumt® euimdl’ eThS G L:ﬂ'ﬁ)gjemr;mrreb Qamewr(h eugliulLg?

A)  Qurg semsE G (B) Seugmwer G

(C)  mrélibwes G _ (D) Cupebug ggidldoame

Who is the First Indian Economist to write the book about, “poverty of India?
(A) Y.S.Pondit -

B) J.S.Mill

(C) Adam Smith

3 @( Dadabhai Naoroji

“@rduneiler eumyew” e LUssssms (psan (psaller erwdu @pHu wsw Qummertsy Blujewmri

wimr?

(A) @i ere. LT
B) Csm. erev. led

(C) <L ibevds

(D) srgruml GperGrme))

NDC refers to
(A) National Defence Council

" (B)' " National Derhographic Commission
M National Development Council

(D)  National Development Commission

NDC ereniug)

' A)  Gsflw ungieriiyé seu

B) Czdu wesar@sTens @
(C) GCsélw auariadl senLs '
(D) Casflw euarméd] G

15 ' BCGS/19
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39. In which year the Iron and Steel Industry was started in the pre-independence period in
India? '
1905 (B) 1903
(©) 1904 . (D) 1902

&5p81680E e @bHwreiled ehs auHLLD G HLY HMID 6T +@ QT hinFreme SLTbINssILLL g?
(A) 1905 : (B) 1903
(C) 1904 (D) . 1902

40. Which states are below than National level of HDI (2011 report of UNDP)

I Tamilnadu - 0.544
II. Kerala - 0.625
III. Karnataka - 0508 )

IV. Andhra Pradesh

0.485

(A) I,II and III
(B) IIlandIV

W

(D) L II, III and IV

a5 wrHoriseen HDI siere|Gand Siereysafley QiHu (wsHw iemay) sieTeyGamene fl (2011)
GEDDEUNE 2_ETETg).

L 5066 - 0544
II. Cayerm - 0.625
III.  &fpr_sbd — 0508
CIV. apdlor GrCsen - 0.485

A L II wpgyw I wl @b
B) I womw IV b Gb
© Nwo

| (D) L IIL II wpmpd IV w_Hid

BCGS/19 ' 16 B



41. The team that lifted the Vijay Hazare Trophy in 2017 is
(A) West Bengal
' Tamilnadu
(C)  Maharashtra
(D) Karnataka

2017-e eflggus amsrGr GCamienuemw Geusnm wmbleowd
(A) | GomE eurisTerid

B  sOPETH

(C)  wsryregygT

D) sipTLET

42, The country that has joined Feb. 2017, as the 7*" member in the South Asia Sub regional
Economic Cooperation Program, is

(A) Manila
(B) - Maldives
Myanmar
(D) India |
“QshE S glenawt sam_risaid Qurmenrsny esgieplL Gwaile” Wigeufl 2017-0 GQmeanbhs
pmeug B 61g)?
(A)  waflen
B) wvrossey
(C) Bwmenrom
@ @pgun

43. The.2018 National Immunisation Day is celebrated on

M 28 January : : (B) 29 January
(C) 30 dJanuary D) 31 January.

2018-& Cgélw sHLILS Hanbd eremm igFfssliLL§I7?
(A 28 gemeurd (B) 29 manaufl
(C©) 30 gmameurl (D) 31 gemeu

B _ .17 BCGS/19
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44.  The 2017 Shanghai Cooperation Organisation summit meeting was held at
(A) Beljing
(B) Vientiane
(C) Islamabad

\V Astana

2017 egriusmi @&gepliy Sienwliy wrpr® aiE peLdupms)?
A Quugm

(B)  eSwemgwimen

(C) @everiouns

D) yevmarm

45, Yash Chopra Memorial Award 2018 is awarded to
(A) Lata Mangeshkar

W Asha Bhosle

(C)  Shah Rukh Khan
(D) Rekha

wreb Gamluym Hlenarey aflmg), 2018 Qe wrBEE euprsLULL g?
(A)  wgmorGseysi

B)  <yagr CuregGe

©)  egnpésTen

D) Crésr

46. Which city has been named as the World Book Capital for 2019 by UNESCO?
(A)  Athens " Sharjah
(C) Bangkok (D) Montreal

2019 b @MY HETE ‘2 08 USHS SBETD e wdarevGaneurd iMelss Bayb 6Tg)?
A  glsenev _ (B) agnmigm ' -

© UMRI&TE (D)  wmermg Muwied

BCGS/19 18



47.  India’s first full time Women Defence Minister, who took the charges on September 2017 is
\M Ms. Nirmala Sitharaman
(B) Ms. Indira Gandhi
(C) - Ms. Menaka Gandhi
(D)  Ms. Sushma Swaraj

Qe bui 20176 ugel gpm @bHwrelan wse WGy uTgsTIL LHAM Beul e
(A)  Hirweor Esmymoen

B)  @bdm spd

(C) CGuansr srhd

(D)  seigwT seurTH

48. Who is the new State Bank of India (SBI) Chairman appointed in Oct 2017?
MMr. Rajnish Kumar
(B) Mrs. Arundhati Bhattacharya
(C) Mr. Pratip Chaudhuri
(D) Mr. TCA Ranganathan

2&5CLmur 20176 Alwdldstiul L uryg euklulen Gearoer wimi?
A) S rgeflely @it

B)  Hmwdl. LmHsdH ulLrésmmwr

©) . rdll Qeanggi

D) S TCA rrusprsen

49. The first women President of Singapore selected in Sep 2017 is
M Ms. Halimah Yacob (B) Ms. Jean Y"ip
‘(C) Ms. Irene Ang ‘ (D) Ms. Olivia Lum

Arsiiyfler pse Queam meammduduns Gelibur 20170 CspgsBHEslu’ s

<peurT :
A  ablelwr wrsl ' (B)  ghew vl
(C)  owren ens (D)  gallellwm g
B 19 BCGS/19
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50. Which of the following pair of elements different from the other?
Li-Mg (B) Na-K
(C) Ca-Mg (D) B-Al

Sp&aramibd G enemr g,@ﬂmr'&&aﬂ@ rpulL @leaent SaflomsET eTaneu?

(A) Li-Mg (B) Na-K
(C) Ca-Mg (D) B-Al
51. The reaction in wi;aich picric acid is formed from chlorobenzene is called as
(A)  Acylation \M Nitration-
(C)  Sulphonation ,_ (D) Halogenation
GCamCrrluenfafledmbg 96M& idleb swmiéeEhn efleneaneni : — S@P&saLLHEDS
A)  si@sCanmd (B)  eop Crrghmid
(C)  s#aCGunGearhmid - (D) anregCarnmbd
52. The electromagnetic radiation are used in MRI instrument is
(A) X-rays _ (B) - microwaves
W radiowaves ' (D) infra-red rays

MRI gmelilseafler LwenuBSsLLOWD WTETHS 2eneseT
(&) X-sdiser ' B) mar @s6T

(©)  CrgCur yemeser (D) =88 Haulsy sfliser

53. The important heat-trapping gas in the atmosphere is

(A)  oxygen (B) nitrogen

(C) ammonia ' \‘y carbon dioxide
suaflnei_wsdler Heuliugens Hlene HmiSgIb (P&l aumy

(A)  ey&edismen (B) enplymen

(C)  <wCoreflur D) smiue-L-ps@ev[H

BCGS/19 : 20



54. What is taking place actually during an amnﬁoniﬁcation?

M proteins are broken into ammonium ions
(B) urea alone changed into ammonia
(C) ammonium ions are return to atmosphere

(D) ammonium ions are denatured

GHuUTs SibCuralbCsayer perAumnib Gung erenar Hsipeyser penL QUmdems)?

A)  yrab obCoraiur oweflwrs 2 e dng
B) whwur swCoreflureurs wrmydems

(O  <wCuoreflur swaliggsdse SILravGwrée Q&éﬁ@mg}j

(D) SnbCorefur Snwenser Qawealsfmg

55. Pick out the mismatch of the followings

"(A). SARS '~ Lungs
(B) AIDS —~  Immunity
(C) ELISA —  Treatment
MALT . -  Oncogenes

&Qaas&trr;euﬁmﬁlab SEUMTE @mmmm SarL_H &

(A) . SARS ~  meondye

(B) AIDS - . Gpri el ab4)
(@ BLSA .- @evoDEEs
(D) . MALT - ynmGrri glenser

56. . Which ratio is constant for DNA?

W@ A+G/T+C (B)

(C) A+C/U+G D)

Geumdlev erg Lq.,crs'm.c} afled &Gﬁ@rr Bleneowimen ellHLd
A) A+G/T+C (B)
(C) A+C/U+G (D)

A+T/G+C
A+U/C+G

A+T/G+C
A+U/C+G
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57. Find out the wrong statement

(A)  The phloem in gymnosperms lacks companion cells

(B) - Pollination is one mophilous in gymnosperms .
The ovules are protected by the carpels in gymnosperms

(D)  Vessels are usually absent from the xylem of gymnosperms

Ep&sa_ &HE5566160 seunTanens &Ll lgé sraiiésab

(A) dbCarmmevuibgefles  srerlL@L YGemmub  spenpsafiey  Cgmpennd  Qawser
sranTliu(heudarena

(B) AbCamevuibsefler warhs Carsans arpm epaions BL &g

(©)  @uibCeamavuibsaidn @hser sriL@saD UTgsTEsHLL HeraTs

D)  e@sab sponsailen turgears Heusasd gCammeavurbaafle sramiu@eoudoame

58. Consider the statement :

Assertion (A) : Omega-3 fatty acids reduce the LDL cholesterol which may thus.reduce
risk if coronary heart disease.

Reason (R) . People with problems of blood circulation such as varicose veins benefit

from consumption of omega-3 fatty acids since they stimulate blood
circulation and help to breakdown fibrin (clot)

Choose the correct answer :

(A) Both (A) and (R) are individ'ually true but (R) is not a correct explanation of (A)

Both (A) and (R) are individually true and (R) is the correct explanation of (A)
(C)  (A)is true but (R) is false '
(D) (A)is false but (R) is true

ED&EHTam)LD eusS Wkisenar seueil

gamm (A) : g@Gwsr-3 Gareuy LDL Gsradvligrae @anss @msw Comu eumeums
' ; GDDESS Snlq Uig).
emeard (R) Qs @lLsdd @onur@-CauflGsrsv pramd oder walsisdar @GwsT-3
Qempueou el dstarimd @Qrss @ULsms EuBss, @rss slgsmen
2 ML &GLD.

sflwrer udlene Comb0sHESWD :

A) (A wpmn R) Gren@Gw sf Cogib (R) ararug (A) el sfwuner efarésnao
B) (A wpmb (R) @remBGuo afl, Gogip (R) erenug) (A) 9@ sflwnan eferésid
©) @A) sfl gyerred (R) seup

D) (A) poup gyemne (R)
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Match the following and choose the correct answer.

Railway zones Date of formation
(a) North eastern zone 1 5-11-1951
(b) Eastern zone 2 15-01-1958
(c) Western zone : 3. 01-08-1955
(d) North eastern frontier 4 14-04-1952
(a) (b) (c) (d)
M 4 3 1 - 2
B) 3 2 4 1
(C) 2 1 3 4
D) 1 2 4 3
Epsaam_ecupan durmss, sflurear uflae CarpdsHés.
@rulerGeu ewTL_cvmISET o (meurssliul L Cgél
(a) euLdlpsiE wehr_sibd 1. . 5-11-1951
(b)) s v 2. - 15-01-1958
() Cuwne wer_eb 3. 01-08-1955
(d) euLdlpse ererene warreww 4. 14-04-1952

() (b) (c) (d)

A) 4 3 1 2
B) 3 2 4 1
© 2 1 3 4
D 1 2 4 3

The region which consists of about 90% iron ore reserves of India is
(A) + Ranchi
(B) Sambhalpur

M Cuttack-

(D) Purulia

@pdu @mby srg @mUde swrr 90 sseissmss deramBiareT LGS
A)  grgd |
(B)  sbudyr

©C) slLrms

D) ymedwr
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61. From whom did the English obtain the lease of Madras in 1639
(A)  The ruler of Golcunda
(B)  The ruler of Carnatic
(C)  The ruler of Mysore
@ The ruler of Chandragiri

AL g6g oips 1639-6 Qeeanarens @sgsmad@ wrflublmbg GuHDE
(A)  GsmeosetLm .‘%L&w:’r

(B)  sipris s

(C) @ o Swir

(D) spsrdlfl sipen

62. Who condemned the Muslim social system Piri and Muridi through his magazine Tahdhib-ul
Aklaq?

(A)  Mauli Chirag Ali
\ﬂ( Sir Syed Ahamed Khan
(C)  Abul Kalam Azad
(D)  Mirza Ghulam Ahamed
56680-2.0 Ssws @b gl sepflaaudan gpad A wHD AR eraud weavellb sapa perpeaws
ST lq.SSHEUI WIMT? :
(A)  Quaredl-Hyms =ed
(B) i mews siswgIETEN
(C)  @ligie Gemb enTs

D)  Slrewr Geomd ga{a;mg;]

63.  Where did the Sepoys break out in open revolt on May, 10th 1857?

(A) Dum Dum : (B) Barrackpore
(¢ Meerut . (D) Kanpur
Suumi seeab 10-05-1857-6 ey ey 55817

(A) Lol (B) umgayr

C) Sy (D) sweny
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64.

65.

Consider the following statements:

I :  The nationalist movement and Hindu-Muslim unity took giant steps forward
after World War I
I . : The entire country resounded to the cry of “Hindu-Muslims Ki Jai”.

“ (A)  Ionly is correct

(B) IT only is correct

M I and II are correct

I and II are wrong

SpsaaL eursdwnisman seueléseLb :

I : s 2 @&’ GuTmHEG ﬂmmﬁ.@gg—@mcﬁ]m enhmewub GCsflu CumyTLkisEhb
cUEIGUENL_[H 60T _

I “@ps-wpadblpe AW aem (pPssHsEEEE BT LPWISID G eTpuuul L g,
A) Tl Goef ' |

®) I WL @b &

©) IwpmbIl s

D) Iwpmoll sang

Which Hindu National leader supported and led the Khilafat movement?
(A) Sardar Vallabhbhai P'atel
(B) Rajendra prasad
Mahatma Gandhi
(D) Jawaharlal Nehru

ahs Qg Caslwus sewaveui Hous QuessHnE 2%sTe] AalSECHTH BMms Sevavain Simidleri?

(A  etsmT eudeumi LGL &

. (B)  grCypdr Gyens

(©) wsrswr HTHS

(D) sauamieomed Gr(m

25 . . BCGS/19
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66. Consider the following statements :

Assertion (A) : The Ghadar party was determined to wage war against the British in
India.

Reason (R) : There was a political activity in Maharashtra

Choose the correct answer from the options given below :

(A) Both (A) and (R) are true and (R) explains (A)

\M Both (A) and (R) are true but (R) does not.explain (A)
(C)  (A)is true but (R) is false
(D) (A) is false but (R) is true

Spsaramb eursdwrisemer seuef :
sapm (A) D @Qpdureiie oymiflCeoweny erdlidg Cumfli 5§§nﬁ &8 SroraNssa)
smyend (R) D wamyreggrédld Dirdwe Qgwed @(mbss

A A mrjﬁgfa (R) @rewmr(mw &M Cogib (R) ererugy (A) i@ sflwnen ellenésid

B) (A womywd (R) @f}éﬁﬂ@l.b & Cuagib (R) erarugy (A) eflp@ sflwuner eflenésinde
(C) (A) &l ypamrev (R) seumy

D)  (A) seuy syermé (R) &f

67.  Consider the following statements and choose the correct code
L. Rabindranath Tagore stood for a national scheme of education
I1. In 1901, a school was established at Shanti Niketan

Choose the correct answer from the options given below
(A) 1iscorrect Il is wrong (B) II1iscorrectIis wrong
W I and II are correct (D) both I and II are wrong

Epsaam smpnssmen seualsg sflwner @S ig.ener eT(pg)
L TSBENETS sraaT Caslw sdell HiL_samg psMseTT -

I1. 1901-e s g HCsgafler gm usteflenws HlmeSlearmit

@eupgier .
A)  1aM Il seum B) 11 &M I seumy
(C) Twpmgo IT @raw@n e (D) Twpmybd II @rear@Hin seumy
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68.

69.

70.

T1.

The HCF of 924, 105 and 525 is

21 ' (B) 84
€) 105 _ D) 25
924, 105, 525-@ér 5.Qur.e
a) 21 (B) 84
© 105 D) 25

Find the least number which when divided By 5, 6, T and 8 leaves a remainder 3 but when

divided by 9 leaves no remainder
(A) 848 (B) 843
1683 : (D) 1688

5, 6, 7 Hmib 8 eramsenmed eu@dsILEL QUMW) 3 B Lﬁﬁummw 9 9 uEGSSLLIHL Qurpg B

@eemogid 2_arer BESHlW eranTenants SrawTs:
(A) 848 - (B) 843
(C) 1683 (D) 1688

Least common multiple of a*, a"*?, a**> where ke N is

(A) ak . (B) ak+15

(C) a3k+8 | y ak+5

k k+3

a*, a**?, a*®, ke N g@lwaipden By Qurg wLkiE org?
(A) ak (B) G-k+15
(C) a3k+8 . ' (D) ak+5

Fill in the blanks : 1, 1, 4, 13, 40, 121, __

JO 364 (B) 382

(C) 256 (D) 312

Camgl L @ ses Blguiys: 1, 1, 4, 13, 40, 121, __
A) 364 ' (B) 382
(C) 256 gl (D) 312

27
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72.  Which is the largest number in 1—5-, 1—% -1—0, ]—D, 1—0 ?
1718 19 21 23
15 ' 15
A e P =
(&) 21 (B) 19
' 15 ‘ 15
O % V =
© 23 17
4
g Gumluw eresr wim ’?E,E,E,l-‘3 18
7T 18 19 21 23
15 ' 15
A — R ==
A) 21 (B) T
5 15
C — oy ==
© 23 D) 17
73. Find the remainder when 4x% - 5x* +6x -2 is divided by x -1
@A) 4 | ® o0

© 2 N 2
4x° —5x% +6x—2 —eow (x —1) e EsEGL Gurg foL &G B sre
A 4 B) 0
© 2 D 3

A= 3o~
74. Find the value of —————— {28~ V21

512 + V343
5 3
(A) 3 (B) E
© 2 o 2
2 5

Y729 J_ uller &Ly smeser

Y512 + /343

5 3
(A) 3 B) =
o 8 2
© 5 D) 5
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75.

76.

A wheel makes 1000 revolutions in covering a distance of 88 km. Find the radius of the
wheel ) .

(A) 13 m (B) 12m

(€ 11m W 14m

88 4.8 Qgreaneey Deweusn@ @b s&arb 1000 snnésd a(Hs560aTaHng. FesaT5H 6 2pTLd
SRS

(A 138 B) 128

© 1ns - (D) 148

A man invésted -lé of his ca.pital at 7%, i at 8% and the remainder at 10%. If his annﬁal
income is Rs. 561, the capital is

(A)  Rs. 5,400 . (B) Rs. 6,000
W Rs 6600 (D) Rs. 7,200

@ wallgen sang) apagansdle % ukiens 7% eul g aI55EQIb i umiens 8% aigsdlib,; Bsapdrarens
10% &igsSleyb psed[H QaudnmT. Sieurg) aumL eu@mTerd (. 561 erafle) Bieurg) epavgeid

A) @ 5,400 | B) . 6,000

(C) e 6,600 D) e 7,200

The height and area of the trapezium are 12 cm and 102 cm? respectively. If one of the
parallel side is 8 cm then the other parallel side is

(A) 8cm . M 9 cm

©€) T7cm (D) 6cm

e sNeussder 2 Wb wHmbd LTty wepGw 12 cm wHmb 102 cm? oips slaussdar m @eanrr
LéssHen Barib 8 cm eraflé LHAPTM Qeenr LssHHa Berid :

(A) 8cm (B) 9cm

(©) 7 em (D) 6cm

29 _ - BCGS/19
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78. At what rate percent of compound interest per annum will Rs. 640 amount to Rs. 774.40 in
2 years, when interest is being compounded annually?

A  11.5% ' B) 12%

©) 8% 7 10%

m. 640 sisnang 2 yarhseia ahg sl B culy Nfssdd op. 774.40 & wTMHID airu_@sm_q_
A UBLESDEG @O POD saSALLLGADS

(A) 11.5% B) 12%
) 8% (D) 10%
79. If the diagonal of a rectangle is 17 cm long and the perimeter of the rectangle is 46 cm, then

the area of the rectangle is

(D) 289 cm?

@m Qsuassdar ppamaeilLsdear oetey 17 G885 Ysab g sHmerey 46 Qs ysab
QmUbern, sigen LTLILETa 6Temen? :

(A) 120 cm?
(B) 152 cm?
(C) 112 cm?
(D) 289 cm?

80. Who is regarded on the “Father of All India Services”?
(A) Lord Macaulay '
(B) Lord Cornwallis
(C)  B.R. Ambedkar

y Sardar Patel

<flo @rdw ueflsaflen sHeng erans smsLILIHUGT
(A) QuwéerGea Gy

(B) snyen eumella Gy

(C)  B.R. oinCugsani

(D)  srgrr LG
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81.

83.

Which of the following Constitutional Amendment states that the appointment of the same
person as a governor for two or more states?

M 7th Constitutional Amendment
(B) 12th Constitutional Amendment

- (C)  42M Constitutional Amendment .

(D) 56t Constitutional Amendment

@Cr pum Qrar(® dg ASHE Copul L wrblomseld sl <y EEEITs BullésiuLmd e
Epsramid aTps SLLESBEED smpdingi?

@A) Tag e sdmssw

(B) 12 augy 5L 58 (mE5D

(©C) 42 eug sl L 58(HSsD

(D) 56 cug s L5S(mHESWD

Which of the following Constitutional Amendment provided Delhi a special status?
(A) 4274 Amendment
(B) 54th Amendment

y 69th Amendment

(D) 74t Amendment

Epsaramb ahs sL HHSHD 4oadl&E fpuy SiBsevg) uhdumss snsng?
A) 42 augy 1 BHmESID
B) 54 cug sl pH@EED
(C) 69 eug sl LS m&sD
D) 74 g sl s8lmss0

The Kapu Reservation Bill, 2017 is related to the state of

(A) Odisha (B) Bihar
(C) Gujarat M Andhra Pradesh
&1 98680 6L _Lb-20176 erhg wrflasCsm( GamiyemLwig?
(A)  @uer B) Jdsni
© egis D) <=pdy rGsed
31 BCGS/19
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84.  In which year the constituent assembly elected its permanent Chairman?
(A) 1945 (B) 1947

1946 D) 1950

@ sirHlueeniiy e gmuuier Blrbsy smaoeu ahs B CaibosBssuuLLTT?
(A) 1945 (B) 1947
(C) 1946 (D) 1950

85.  Which of the following cases deals with the Fundamental Duties?
(A)  Kesavanandha Bharathi Case M Ramsharan Case
(C) Golaknath Case (D) Minerva Mills Case

Spsaarcunhle SiglueL sLawsGam® QT iy w aupsa
(A)  Csseurenps LT &S (B) grnbgreaw U@
(C) Caronrsprs eupsa D) Barieur Wl cupsE

86.  Untouchability has been abolished by the constitution of India under

(A)  Article 14 (B) Article 15

(C) Article 16 W Article 17
@pHw Srflueenoliyd sl vy S raweaw @uilsEn s LG9fey
(A) o914 (B) 69415

©) 816 . D) AH17

87.  As per the Budget estimate 2011 — 12 the over all Public Debt. of the Government of India

was

“(A)  Rs. 31,10,618 Crores JRS. 32,81,465 Crores

(C) Rs. 30,11,548 Crores (D) Rs. 3i,19,460 Crores

2011-120 @rgen cugey - Gewey HlLsdar Ly QprHu psmrssHar @l O Qurss sLen
Qgrenswimang).

(A)  5.31,10,618 Camg . (B) . 32,81,465 Camy.

(C) . 30,11,548 Camg D) . 31,19,460 Camg
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88.

Match List I with List IT :

(a)

(b)

(c)

()

(a
A 2
(B) 4

(©)
(D)

List I

Councils

National Planning Council

National Development Council

Research Programe Committee

Planning Commission of India

) (b) (c) (d)

2
2

e I
O = DD
N O L")

ulgwed I g ulquwed IT 2 e Qurpsgs :

(@) -

(b)
(c)

(d)

()
®)
(©
(D)

ulgwe I

LDEATM BI&ET

Casflw S wemid
Czflw euaraél wemmid

ey HLLEGW

pHw HLEGW

(a) (by (c) (d)

IR
e W e
TS

33

List II

Members

Prime Minister, Chief Ministers and
Central Ministers

Scientist, Engineers, Economist and other
Experts

Prime Minister, Chief Ministers and
Economist

Leading Economist and Research Scientist

uligwen IT
2 mu9eriser

Yrsw wpdfl, wpasa whdflser LHHD WSS

whE Meer

sifleflwe g rmusflumeriger, Gummefluwiey
2iflepraer, muy GrdHdser
Yggw  wHHMA,  psd wvEpHfladar  wLHHID

Gummetlwe Hlujewmriaer .
Quirpeflued Blyewriser, SiflefNwed
D IeuUTeTT&eT
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89.  Which year MTNL was set up by the Government of India?
&) 1985 \9/ 1986

(C) 1987 (D) 1988
Qrdw sipsrmEssTe erhs e MTNL Sipeudul Lg?
(A) 1985 (B) 1986
(C) 1987 (D) 1988
90. ‘Mission XI Million’ programme is related to _
W Foot ball
(B) Tennis

(C) Space travel
(D) Power supply

“Blagen XI Wevellwen” L b ergGarm(® QgmyenLwig?
(A)  sroubs

(B) Qrenaflen

(C)  aderQeuef LiwewTd

(D)  Sewr @enemriy

91. The advanced Surface to Air Missile system (SAM), defence deal was signed between India

M Israel

(B)  South Korea
(C) Bangladesh
(D) Syria
Cubul L gearuiladmbg eurafld geauliu@®b geysemeant SwrillysE QbAHw erhg Bl (HL6T @UUBSLD
Qewgierang?
(A)  @evGred
B) QAger Qsmhlwm
(C)  unsemCsay
D) Afwr
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92. The first State in India to switch over to Jan — Dec Financial Year format is

(A) Bihar (B) Maharashtra
(C) Karnataka y Madhya Pradesh
speneulfl - wsbur BHwunar® WapdE wrdler pgad wrble 6rg?
' A Sewni B) m&nqwdq.q_uﬁ
(C) sipTLGT D) wsdw GrCsebd

93.  Who succeeded G. Kalyanakrishnan as the Chief Executive of Nuclear Fuel Complex?

Dinesh Srivastava

(B) Kiran Kumar A.S.

(C) Sivan K

(D) Radhakrishnan K

Sie&am arflQurmar auatmagdlen psarann Qewe sfsriluns G. sowrewmdlmeayamen eTamLa(HEES

W@ Hludlsstul el wirr?

(A)  HGaneiy ffleusvgeur

(B) dlpam@ort A.S.

C) &daewK

(D)  grgnélmegewres K

94. Who was sworn in as Chief Minister of Manipur on March 15, 20177

l w Nongthombam Biren Singh
(B) Raj Kumar Ranbir Singh

(C) Okram Ibobi Singh
(D) Raj Kumar Jaichandra Singh

werflliyT wrhlosdear wee whdflwns wrié 15, 2017 @ ugeNGummeur wri?
(A)  CprmGsgrbub enuiyer Slb

B . Urra@mr'rr'r Fen S Sk

©) @érb@CumS S

D) LT QuusbEy &

B 35 BCGS/19
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95. The mountaineer to Scale Mount Everest twice within five days in May-2017.
(A)  Anuradha Devi Thokchom
(B) Chekrovolu Swuro

M Anshu Jamsenpa

(D)  Gohela Boro

Cw 2017 & mig prlsaflée @mupen erauGravl wene 2 &8 gler ea oD eﬁqrr.réw;a}mr wimr?
(A)  sigrren Caell CansGambd

B) QesCrmGeurgy seyCym

(C)  oeta mmb@gaLT

(D) Gasrdlaor CurGrm

96.  Swachch Bharat Abhiyan (Clean India Campaign) is to accomplish the vision by the year.
(A) 2017 (B) 2018

M 2019 | D) 2020

seué LMyS Swren (sggwrer @pSwr Wrsmyd) ser GHECanmaen abs pamgdEer HleopGouhpLs

Curélmg? _
(A) 2017 (B) 2018
(C) 2019 (D) 2020

97.  The 14t Pravasi Bhartiya Divas was hosted by
A) Chennai

\M- Bengaluru

(C) Mumbai
(D)  Delhi

udlenrensreug) Gyeund urisSHuw Heus BLFHw BSTD 678)?

(A) Qoeenan
B) Qurusesm
(C)  qpbumd
(D) Greed
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98. As per the 3 list announced on June 2017, how many cities in Tamilnadu are to be
upgraded as smart city under PM’s Smart City Mission?

A .3 ®B) 5

@/4- D) 2

sgoen 2017 & QauefuSriu L Gggw whfufler ‘Gl &ly” S sdar & epammmbd Ll igwela
SIDBTL 146 TESMET h&TRISET aulomil Sl g wrs CubuSsUuL 2 drerg?

@ 3 . B 5

© 4 _ - D) 2

99. Who among the follbwing is a recipient of Dan David Prize — 20177

(A)  Amitav Ghosh
(B) Leonard Kleinrock

* (C) James Hansen

M Shrinivas Kulkarni
2017 Lmen GLafl" Lflens QupiLeu wi?
Q) fsseu Cames
B)  Swerri(h) Hevwereryms
(C)  Csywav anmerges
(D) Afafleurav Gasied

100. Which one of the following is not a federal feature?
(A)  Dual government
(B) - Division of powers
(C) Rigid constitution
\M Single citizenship
Spaanr_cupmle ergl gnl Lm SHufer Guid oieen?
(A) | @l el SrFETRIsSD .
B) fsrpl GfeSenen
€) Opdipr sirdumemoiy
D)  pvons Gguyfaw
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